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TF gemL e § fefated § 9
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1) SEn Ride
2) 3iq forEmar
3) U= FHAA
4) TR R

[ Level-3/1315]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,

under Erikson's Psycho-social

development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

P.T.O.
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4. Which of the following characteristics

does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal
Development' refers to :

1) What the <child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable
person

4) What the child can't do even
under guidance of
knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the

reason ?

1) Formative
2) Diagnostic
3) Remedial

4) Summative
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1) THo Hio Tho 2005
2) Udo Fﬁo éo 3o éTo
3) I
4) FFE®
8. 3is T fomw # fhe U & Raad
A § ?
(@) X & MHR ¥ qRaad
(b) SRR & g # qReA
(c) YU Tl &l foeiia
(d) A faQiarett 1 AR
7& T F T BT
1) (), () W (c)
2) (a), (b) W (d)
3) (a),(c) W (d)
4) (a), (®), (c) W (d)

9. Ffafag & § dF-a1 Fa FREROT
& AT R GHRIEE T919 W 787

T ?

1) ARTERIT dEq & FdeR & &
FHC B

2) WM HEeW & FGRR  H
ffea fRem o™ & &

3) ARTROmT HEew % FGeR H
IR SIS

4) T HEW & FGRR B
T ST ©
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"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT

3) UNESCO
4) UNICEF

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (@), D) & (d)

3) (@,() & (d)

4) (@, ®), (©) & (d)

Which of the following statements
does not explain the positive
impact of motivation on learning ?

1) Motivation impairs learning
behaviour

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning

behaviour
4) Motivation makes learning
behaviour selective
P.T.O.
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Match the stages of morality with
their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and I
exchange

(c) Social contracts and II1
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ ® (@© @
1) 1 III II I
2) III II Im 1
3) II 111 I II
4) 11 I Im I

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is

not true regarding biological

motives ?

1) They are universal

2) They are inborn

3) They are essential to survival

4) They are not related with
homeostatis in the individual
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&R AT T H AR § 7

() forad
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(c) AR
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7& FE F TIT BN :
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1) (a), (b) W (d)

2) (a), (b) W (c)

3) (a),(c) T (d)

4) (a), (), (c) W (d)

14. F=fafad & & @@ H99 IR
qlerl & ded § w9 78 8 7

1) Todeiss & 99 TN J0e9 Th
fereares gieror B

2) qMfs® RO qafRe ot
qfed a1 TER & 8 g

3) ST A MwEE gl el
H G|

4) FgmiEh TRl H OgRE B A
el wd oTpicRl BT B &
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Which of the

examinations are the basis of

following

continuous and comprehensive

evaluation ?
(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), () & (c)

3) (a), (c) & (d)

4) (a), (b), (c) & (d)

Which of the following statement is
not correct in reference to

intelligence tests ?

1) Alexander's Pass along test is a

performance test.

2) Verbal test can be either

individual or group.

3) Illiterate people cannot do

performance test.

4) In non-verbal tests intelligence
is measured through pictures

and figures.

P.T.O.
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15. frfefaa & & d9- JH A & 15. Which of the following pair is not

Promar ﬂ@ frsid & o ﬂ@ @ correct regarding elements of
dd T 39 AOM 3 dey § TR intelligence and their dimension,
T %? under the Three Dimensional

Intelligence theory of Guilford ?

Elements of Dimension
g@f % @ SN Intelligence
1) IHE IS 1) Unit Product
2) G fshar 2) Cognition Operation
3) Hedih fspar 3) Evaluation Operation
4) gy ferrerereg 4) Relations Content

16. frfefag & @ @9-d 9@ *f=Ea 16. Which one of the following is not a

HARFM gRehol Hl TqE Qv 78 key feature of child centred

g7 learning approach ?

1) TRE HeEe & oEEr 1) Meaningful learning

opportunities

2) Uehdl 78T T 2) Single learning pathway

3) Hdad W 3) Continuous assessment

4) {™ fareror |fdT| 4) Accessible learning settings
17. 990 & AR, N Hie| @l 11. According to Bandura, which is not

HN-G SraHeeT Uk 78 & ? the interrelated processes of

observational learning ?

1) SAIYEIHS BIEDIIY 1) Attentional Processes

2) gIUMHD BIEDIY 2) Retentional Processes

3) RS TR 3) Motivational Processes

4) DIEEI e P 4) Conjunctional Processes

[ Level-3/1315 ]
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4) T HIE (3F5H) qeH

uh ot fRitaar St SR
HIAT B AFE Pl TATIT B &€ ¢
1) ehagar 2) feenfter
3) fewifrmr  4) fedifafemn

WS & Hlneh G i @

Ul SRSl & Fel hH B =FET

HIPT

1) gEEer — i ggEmEeEr -
HAIRME - TR -
EREIE-RIEIS)

2) TEEEl — FEEEe — [T
JgEER —  SEEAEer -
RCICEI]

3) gEEEl — TEEET - [
qgEER > eIl -
ERRIE-RICIS)

4) FIFERA - EEE -
qEEe — SEAEgEE — T
BEIEIEIS|
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According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

P.T.O.
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22. Yg@@ & 9 OHEI?FT R 22. According to Pavlov's Classical

fsia & SINKIRE (SR IECAG] \ﬂfﬁﬁlﬁ Conditioning theory of learning,
SEIUH B ERﬂ?ﬁ?b_{'UT T HY-GT BB which temporal sequence
Y GE B Gaifes gead HEm ? presentation of natural and
conditioned stimuli will most affect
learning ?
1) G HHID 1) Simultaneous
2) fowifaa 2) Delay
3) Gaa 3) Trace
4) GLTH 4) Backward
23. O™ & deeiers foer Risid @ 23. In which stage of Piaget's Cognitive
fpe  ofaem H GTEKf i @ Development theory does the
ARG B e faeiea & Sl ability of abstract thinking and
g7 generalization develop ?
1) KECEILE 1) Sensory motor
2) Yd-HishaTeh 2) Pre-operational
3) ﬁ—ﬁﬁﬂ?ﬁiﬁ 3) Concrete-operational
4) SMroenRep-wfshareen 4) Formal operational
24, UiqweTell fEnfRt & fow FrefoRad 24. Which of the following educational
T q - s Fawen 7@ @ T arrangements shouldn't be made
ey ? for talented students ?
1) @ ooiee & & oTaax 1) Opportunities for independent
project work
2) I 2) Acceleration
3) SUARIHH e 3) Remedial teaching
4) RECRIEIRE 4) Enrichment program

[ Level-3/1315 ]
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freifofeg & ¥ 9-a1 go@sh fwem
H TF sid 78 & 7

1) TRl & i

2) T @ f=ia

3) fafdear &1 Sis9 79 &1 osid
4) T & R & f&sia
frfafag § @ fF-a1 d@ Jafs

Rreraiell & orgaR Reor & gwedq
7&f o ?

1) foeniEl & s=1 998
2) JARTH TR
3) UIgIshH H R

4) TaaRigl o avae @1 a9

fafaree  omasEeRdTAl A T=E
AEPEN B QW FE H Jem
T T g 78 o

1) [S91 4S99 &% fOened | masr &+

2) gau g glaEmd sem B

3) I T STETHar B TEAMI
Ud eI § el @

4) 32 HAETH HEEd Qa8 G
HET
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Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational
institutions in addressing the needs
of children with special need ?

1) Admission to school without
discrimination

2) Provide
infrastructural facilities

accessible

3) Identify their special needs

and exclude them from
mainstreaming
4) Provide necessary support
services
P.T.O.
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28. fr=fafad & @ d9-91 &9 e 3

29.

30.

g § o 78 B ?

1) [9FE IREET T ST Hw
3@ B

2) URR @ & g | a1 Al
foeprg atfres iR 2 B

3) fomm fox @ W & fRsm & om
T Bl

4) fopE =g o ¥ B # SR
T Bl

THEs e & Bemrh Rsia has
/T ufquifed fehar ar ?

1) iy, X Td Rrres
2) WX ug forent

3) WHBAT TG &R

4) odel, Sfed Td g

“HMIHTT H o1 & g gee
¥ gRUFadr ST | & 98
g fhes a o & i R O?

1) S St
2) We
3) R
4) BWH

28.

29.

30.
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Which of the following statement is

not correct in context of

development ?

1) Development is the product of

maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of

the inclusive education

propounded by whom ?

1) Giriffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey

2) Garret

3) Sorenson

4) Hurlock

[ Level-3/1315 ]
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31.

32.

33.

34.

fqQwer & deg # dHi-ar @é gatad

7ET T ?

1) ARG - |51 9 i &k

2) UiEaH - faQier & IavEen

3) UREH - JorErE Qe

4) Y - G § FEa HEaEs
El

g foecy # =-g™ & TE Y 9
7 77

1) Sf - &@, ael - gt

2) WY - &9, §Y - &d

3) IR - =&, FIERT - ASl
4) HR - Hidl, g - A

HI-91 H @@ 78 © 7
1) s - am I
2) HK® - qa9d 9=
3) faast - W 9=
4) VA - ke o=

frefafeg & @ 59 faed &1 9=
wfy-faees # e @ @ § 7

1) HIMET = FA + AEH

2) Y = amr + ST

3) AMHIN = T h + 0

4) TgH = Y + A

[ Level-3/1315]

35.

36.

31.

38.

fp faheq & WHE W gl
A H ISET 78 & °

1) QST SO
2) dHsaTd, RS
3) YA, HarEd
4) UERR, qgqufa

frg fabeq #1 = ‘o ITEd A
T 7&f = ?

1) M

2) it

3) I

4) IFER

e # 9 e 9T @ 9= faeee
Tt 9 fafa § °
1) Gedtad, siferr
2) ST, FHHEL
3) Regd@R, ST

4) TSR], B

EaE 9|l ® d9g ¥ -
fereq ofgfaT @ °

1) I=AT - fEHRT, rgdiy], wede
2) &S - G, JuHl, A&

3) T=_A - TNEN, JAge, QU
4) T - FERAICH], ST, YR

P.T.O.
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39. AN e d e faseq & a+ff 9=
g E 7
1) T, @R
2) TG, SEY
3) e, e
4) RfE, T

40. ‘TR TMHl ¥ 9RG H AR BT’
ST ad § @ifed I HAM R
1) SHiFdares HsM qeT Sicaraeh G5l
2) Siiadreds G qo1 AgarEs ds
3) Hiddrash Gsl T Afkiars ds
4) HEqED G AT Alddreh G5

41, = ¥ 9 59 qeR B A €6 78

g7

1) T W ) T BN - SR
B

2) Y F T TX A - foFT O™
% P A9 T BT AT

3) T e UMl dNT - A &R
S SIS

4) FAM 9 qR a0 - feet @
g Gl

42. a1 & HdY H ofgfaq e T

1) & & AR W B6a & ‘dHie
wd ‘oTEHE & 9T AW S S

2) gﬂﬁﬁ@ﬂéﬁﬁﬁﬂﬁ%ﬁﬁ?ﬁ@?ﬁ
[

3) T g7 @ & foramn s’ I
qrR # RO AT SgE &8 o

4) ‘SiogEr, ‘ASAA’ T U
AT BRa % SRR B

43.

44.

45.

GET IT ON
Google Play

M & ey ¥ PN-a1 B FET

g ?

1) T % MR W 9999 & B8
AT

2) ‘B JA FY  ACEIIEE
I I

3) ‘TEVEEE AW & IR e AW
ST &

4) FrG gM @ R & UG e
[ B B aEg B A A R
39 FerEaras 9dm ®ed 2

fre faeq 4 Rodaeis 3= ommT
T ?

D 99T - Jadd

2) T - HENE

3) &9 - ad

4) M - WE

THT ® MU THA 9= P Gey H

ST T T
1) S & H g | IFRE T & -
3y

2) Frad =18 Bz 7 & - Ay
3) 4R § oM Al HAFT - A

4) N HoE WM P fow Sk -
R
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[15/A]

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face agreatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3/1315]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.
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[16/A]

53. Which of the following sentences is
the correct option to express a
probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

54. Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

55. Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

56. The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

GET IT ON
Google Play

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,A,C,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1315 ]
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[17/A]

RS QdT, diihe SRl el 9T S U9 IREIM / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

fraer : fefafad gl & SR 39 & e @98 S faske g

Direction : Answer the following questions by selecting the most appropriate option.

61. I A 4 RBX & I WX IO f&em
# R oAl Je F@ @l ©, ol
SHS 919 B H R B

1) I3
2) UltEH

3 T
4) IR-UIRTH

62. T% A 20 [l g0 & &I & e
¥ uF gue # qur I g0 H@ AW @l
footg s & 2 9@ & @@ O F,
@ AT ST A9 B A ®

1) 10 fH1/=0er
2) 12 fHHI/a9e
3) 13 fHI/aven
4) 15 Al guer

63. 15 Fidl & TP H 7 Ak

[ Level-3/1315]

61.

62.

63.

If A stands on his head with his
face towards North, in which
direction will his left hand point ?

1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h
2) 12 km/h
3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and
English both ?

1) 0 2) 3
3) 4 4) 5

P.T.O.
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64.

65.

66.

61.

TF Fem § 35 foEnii H, A & w®N
9 9 7d W U@ B & WM IW q
oF WM W & T C & &N 37 Nl
H O AT HE, A C & W AH
He-AT B ?

1) odf
2) 108t
3) 114
4) 128t

Ueh %= e A § 'CEG' &l ‘TSR’
qg FH]' & 'QPO' for@m ofem 8, af
TH @AM AW H OIRKM' @ femr
SR

1) NOP

2) NOL

3) NMK

4) NML

Rl EAML ¥ fhaq orfe o= 913
ST 9 B 7

1) 1

2) 2

3) 3

4) 4

uh fafa Sgys d aiie Hv
& BT B 7:2 8, @ 9
TS A TSl dH WA B

1) 7 2) 8

3) 9 4) 11

[ Level-3/1315 ]

64.

65.

66.

61.

GET IT ON
Google Play

In a class of 35 students, A is
placed T7th the bottom
whereas B is placed 9th from the

from

top and C is placed exactly

between these two. What is A's
position from C ?

1) 9th
2) 10th
3) 1lth
4) 12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP
2) NOL
3) NMK
4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1
2) 2
3) 3
4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11
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68.

69.

10.

11.

= |V

frfafed @& S & SFET 0
ST I
2,3, 10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

T A BN TF o B T 8 g9 H,
T B T 1 dF P I 6 gUC F
A o HhaT 21 IR AT A B T
Y 2 g9¢ & U @iem & 99E T
A P F< FK A Y, @ 7@ B W
ST & e AT T ?

1) 2 g2 ¥

2) 2% g9 §

3) 3 gwe d

4) 3% g {

gfe forer ffdea Yot & 38 « 15 = 32,
62 %91 =7 qUT 74 81 = 29 &,
G Yed § 47+33 F A B :

1) 40
3) 38

2) 41
4) 53

g 17 RE=R, 2002 H qFER A,
o 22 RE=R, 2004 #H HF-Ar R&H
oqr ?

1) War

2) e

3) R

4) TR

[ Level-3/1315]

68.

69.

10.

11.

GET IT ON
Google Play

[19/A]

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
2) 2% hours
3) 3hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 % 81 = 29, then
in the same pattern the value of
47 %« 33 is:

1) 40 2) 41
3) 38 4) 53
If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday
2) Saturday
3) Monday
4) Tuesday

P.T.O.
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[20/A]
72. o) T SFET UE R 12. The next of the series is:
Z1A, X2D, V6G, T21], ? Z1A, X2D, V6G, T21], ?

1) R8IM 1) R8TIM
2) R8IN 2) R8IN
3) R88P 3) R88P
4) R88M 4) R88M

73. 3OS qoiHmN g, @ "I"i£ Iprt F 13. In English alphabet, the number of
HAFT PR ® HAH B3 T SPER Hl letters skipped in between
9 T d FH Bl S %, adjacent letters in the series is
frafofag afmt § aF-@ 9 e decreased by one. Which of the
T IS B & 7 following series observes the rule ?
1) DJOTV 1) DJOTV
2) DJOSV 2) DJOSV
3) DJOSW 3) DJOSW
4) DIOSU 4) DIOSU

14, x-3%, y-3& T 4x+3y =12 G 74. The radius of the circumcircle of
e %f‘ﬂ\_rf ® CBIEE! P B T the triangle made by x-axis, y-axis

and 4x+3y =12 is:

1) 2 @ 1) 2 unit
2) 2.5 3HE 2) 2.5 unit
3) 3 TR 3) 3unit
4) 4 TR 4) 4 unit

75. I8 999 BlKl 91 9 Zﬁﬁm, fora 15. Find the least number which must
15463 # Sies WX U %A 107 9 be added to 15463 so that the
T‘W frefora & o ® resulting number is exactly

divisible by 107 :

1) 52 1) 52
2) 88 2) 55
3) Tl 3) 71
4) 76 4) 16

[ Level-3/1315 ]
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16.

11.

18.

19.

= |V

UMl H g H E g H PRt
ST ST 6 uT O b R g W
o W 20% & A B ?
1) 1:5 2) 2:8
3 3:5 4) 4:8

e FfiEd R @1 4% affe W W
2 99 % QT ThafE S Ud ER
S FH YT 8

1) 52:51
2) 52:50
3) 51:50
4) 53:50

%Ti%A,BaaTc?r%:

W |

ogua & el T Th AR R
R 4 e ggEg A A ST O &
50% e fan At af & o= H Fa
21,600 YA H AN A &, ol 9
T Y B R B

1) 2,400 &9

2) 3,600 &G

3) 4,000 &G

4) 4,200 R

Uh A 20% Y 9 Th & i
SO B, A I I & 12 TW@
AiYe | o=, df IH 10% B AT
BITl 3 a%g H HY YA ©

1) 22 &1

2) 30 T

3) 36 T

4) 40 1

[ Level-3/1315]

16.

11.

18.

19.

GET IT ON
Google Play

[21/A]

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51

2) 52:50

3) 51:50

4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

7.4.5 After

2°3'5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400

2) Rs. 3,600

3) Rs. 4,000

4) Rs. 4,200

4 months, A

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22
2) Rs. 30
3) Rs. 36
4) Rs. 40

P.T.O.
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[22/A]
Y%, % =
80. a1+_aa +11—+a\/g S
1) ﬁ
5 21
y L
4) %
81. Qe Ma G owared @
1) o R
2) FHoEe o |
3) IR P &

82.

83.

SR ECSIRESI

fhe BRAE 9 T, 2023 H AN
TS %l B [T ?

1) w9 o

2) eaiy [HeE
3) Iy R

4) Wifed

Ao & efated Togaen H 9
P oE W TH SR & ?

1) o gHdiRK

2) 4 JIwR g S

3) 4t sl ST W

4) & gL e geariern

[ Level-3/1315 ]

80.

8l1.

82.

83.

GET IT ON
Google Play

Ve —Va

al/zltaa_ +11__|_é:/g is equal to :

1) ﬁ

5 21

» L

4) %

ﬂistorical village Sugh is located

in:
1) Ambala district

2) Kurukshetra district
3) Yamunanagar district

4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia
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84

85.

86.

81.

= |V

. AEERE WU S G 0 g0 §
1) <9 ¥ 2) Parm ¥
3) g H 4) ead H
Mar S T9RE 9 A9 § "R
S 8 ?
1) s 3§ 2) AELY ¥
3) oM@ d§  4) o H

qg FeeeEE & gx H e
B @l T :

() 9E G & R )
(i) I8 TH TR 9
Gehierd @I, S GarE & &9 § B

7& HE F TIT BN :

1) 399 HIT (i) TEI 2

2) Had B (ii) eI 2

3) T A FAT (i) M A & BT (i)
T B

4) I FAF (i) R (i) T 2

[ Level-3/1315]

84.

85.

86.

81.

GET IT ON
Google Play

[23/A]

The evidence of Stupa of Mauryan
period is found at :

1) Topara 2) Bhiwani

3) Thanesar 4) Rohtak

Geeta  Jayanti Samaroh is
celebrated in the month of :

1) Kartik 2) Margshirsh

3) Ashvin 4) Shravana
Who is the Chief Commissioner of

Haryana  Right to Service

Commission ?

1) ShriT. C. Gupta

2) Shri Vijay Vardhan
3) Shri Rajesh Khullar
4) Shri Vikas Gupta

Read the following statements
about Sadhu Nischal Das :

(i) He was a Dadu's disciple.

(ii) He compiled a book 'Vichar
Sagar' which is in form of
dialogue.

Choose the correct code :
1) Only statement (i) is correct.
2) Only statement (ii) is correct.

3) Neither
statement (ii) are correct.

statement (i) nor

4) Both the statements (i) and (ii)
are correct.

P.T.O.
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88. =RAMT ¥ RGN WoW dx FEl R 88. In Haryana, where the Chinkara
g7 Breeding Centre is located ?
1) feR 1) Pinjore
2) qEIUd 2) Panipat
3) #EX 3) Jhajjar
4) TyEm 4) Bhiwani
89. BRIMM T Hedhrl ?ﬁ Td I 89. When the Haryana State Co-
foere arE o #t ®AT &9 ? operative Agriculture and Rural
Development Board Ltd. was
established ?
1) S¥adl, 1967 1) January, 1967
2) WY, 1966 2) November, 1966
3) A, 1980 3) March, 1980
4) SVEdl, 1996 4) January, 1996

90. =Emm # Ardl™ SChll MEnfen 90. Where in Haryana, the Indian

HEI el R B 7 Institute of Information Technology
is located ?

1) dHEa 1) Sonipat

2) qHIud 2) Panipat

3) ST 3) Ambala

4) FHEA 4) Kurukshetra

[ Level-3/1315 ]
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[25/A]

91.

92.

9g & AYGi% 1.0003 B g WA
B HICE e FEid B e e
% ol § Uil SR (L = 6000 A)
% T A T BT, B

1) 2mm
2) 3mm
3) S5mm

4) 50 mm

T bl e T 7 BE wB Sl
e & [ alel @ g |
R B & (o AHR-GHEN ST
AR HCN el &l qEE-GAEH
IS 1 T8l =T B

1) Foff ST & SR ¥ & UHA
HE

2) oM@ T FEA B JHENAN BT
eI
3) SINTEHdl RfaR A I HE

4) [ IMEA B YBAM BT

[ Level-3/1315]

91.

92.

The refractive index of air is
1.0003. The thickness of the air
column which will have one
more wavelength of yellow light
(L = 6000 A) than in the same

thickness of vacuum, is :
1) 2mm
2) 3mm
3) S5mm

4) 50 mm

A physics teacher wishes to apply
the problem-solving strategy to
help students understand various
way to conserve energy in a
school. The first step in the

problem-solving strategy will be :

1) Collecting data about energy

usages

2) Evaluating the effectiveness of

steps taken

3) Taking remedial measures like

awareness campaigns

4) Identify wasteful practices

P.T.O.
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[26/A]

93. TR @ @A WA H Had
Frefefed <@ @ s@er 3@
feem® & R -

1) drRAA
2) I
3) wgEd
4) Se

94. U § W A WG & ThH FAUD
G % BBE g0 120 cm &l a0
ol @ RO & HHA: 0.18 X
0.27 &I JAG B BB AT FAM B
(o )

1) 20, -40
2) —-40, 80
3) 40, 60
4) 40, -80

95. TH Rugey (¥47) 32 MW & & €
ol S Bl Bl 5, U % R@
gid Hepvs [q@UsT & STasuE Gl

4

(= & & ofr frEved S 200
MeV%)

1) 10%° 2) 10'°

3) 10% 4) 10"

[ Level-3/1315 ]

93.

94.

95.

GET IT ON
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In the absorption spectrum of
hydrogen, absorption lines of only

the following series appear :
1) Lyman

2) Balmer

3) Paschen

4) Brackett

An achromatic combination of two
lenses placed in contact has a focal
length of 120 cm. The dispersive
powers of the two lenses are 0.18
and 0.27 respectively. The focal
lengths of the lense are respectively
(incm):

1) 20, 40

2) -40, 80

3) 40, -60

4) 40, -80

A reactor produces energy at the
rate of 32 MW. The required
number of fissions per second for

92U 238 are :

(Assume the energy per fission is

200 MeV)

18 16

1) 10 2) 10

12

3) 10 4y 10"
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[27/A]

96. fEd T@E IO FEd WS B

91.

g & e fEor & (s 3ot @

96.

What is the best sequence of

various steps in lesson design of

AT A FT RN ? Faradays law of electromagnetic
induction ?

@) UREGET () U () st () Hypothesis (II) Question

(IV)@'@' ﬁ':l'i'UT(V) RCHE] (III) Discussion (IV) Bridge

e R W Rd @ WM W FE
foeheq 1 T FITY -

) I-IV>II->V I
2) I->M->I->IV-V
3) VoI-II-I-V
4) I-VSIVSII-II

Frefofed & & @F-@  Aifo®

AT #SAE-IgE Je IS

7 T 7

1) IUHT & [ Sfegal & e
qol STl HEel w1 HgEA @
HAMET H HI

2) AT B A & ATEAR ITHI
% [ oregdl @i FaRed &
T

3) UREmH & SifeH ®Y A & [
R#ie B ™ Jaol & fsor

91.

construction (V) Demonstration
Choose the correct option from
codes given below :

) I-IVoSII >V I

2) I-M->I->IVo>V

3) WoI->NM->0-5V

4) I-V-SIVoSI I

Which of the following is not a
product-oriented performance

skills in the physics laboratory ?

1) Detect and rectify instrumental

errors and their limitations.

2) Setup the apparatus according

to the plan of experiment.

3) Analyse and interpret the

recorded observations to

Tq A B H finalize the results.

4) TR GO % STER WX fpet 4) Accept or reject a hypothesis
IRHEET B ARG & ST based on the experimental
IEIHT FA H| findings.

[ Level-3/1315]

P.T.O.
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98.

99.

100.

T ol T o &Y

() Frdl M W ar I9 g e
™ FA HA o H IR
X B &

(i) frelt e @ &l S (StiaR
T @) aN R T e s
ot § qRace & JET el &l

@& fameq 1 T W -
1) T I Q) TG (i) T

2) Ml HE ([) TI (i) dE &l
2

3) @ad HIT (i) TEl &l

4) Had I (i) T D

g M AR B R A T
A0 § 2R Fas W Rud gamr
FT H MM m’ % ST &
YA # & o STasEs geaw
ol B

1) GmM 2) GmM
2R 3R

3) 2GmM 4) 5GmM
R 6R

o™ X omedl w @ fqEniiE @
JABR (FE) T G dRd E
frfafeg & ¥ aF-41 O 9w
2 ?

1) Tty e fQreror

2) SAET BT

3) fomst &

4) TR B

[ Level-3/1315 ]

98.

99.

100.

GET IT ON
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Consider the following statements :

(i) The work done by the external
force on a system equal the
change in the total energy.

(i) The work done by all the
forces (Internal and External)
on a system equals the change
in kinetic energy.

Choose the correct option :

1) Both the statements (i) and (ii)
are correct.

2) Both the statements (i) and (ii)
are incorrect.

3) Only statement (i) is correct.

4) Only statement (ii) is correct.

The minimum energy required to
launch a satellite of mass 'm’ from
the surface of a planet of mass ‘M’
and radius 'R’ in a circular orbit at
an altitude of 2R’ will be :

1) GmM 2) GmM
2R 3R
3) 2GmM 4) 5GmM
R 6R

Vijay sir wants to teach the circular
motion to Class VIII students.
Which one of the following will be
the best method ?

1) Activity based teaching
2) By giving examples
3) By discussion

4) By demostration
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101.

102.

28 nC & Uk f&g Y 4 forg W
R 2 BT r = 20 cm 9@ @ &
0 =03 7m 6 =0 M /27
FR 9N @ oA A e[ we o
(ne 7) -

1) 25 2) 12.5

3) 6.25 4) 0

TAT HIF B TIT DI -

1) &|M M U B9 R &l ThEaH
JABR qad H A B qd H
wiEr & uRd: Siew e
S MR? ¥

2

2) &S9N M T4 B9l R %l ThHEHN
AR Fhdl B A & qd A
wWiEr % URA: Sed g
%MRZ%I

3) ZHUM M T BT R & Th 39
Td & WG E & R

SIS et %MRZ 2l

4) ZTFIN M T B R 3 @
AT BT B CRET T B
trﬁﬁzagawngRz%l
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[29/A]

A 25 uC point charge is located at
origin. The electric flux passing
through the portion bounded by
0 =0and w, = 0 and n/2 of the
sphere having radius r = 20 cm is
(npuC):
1) 25 2) 12.5

3) 6.25 4 0

Choose the incorrect statement :

1) The moment of inertia of a
uniform circular ring of mass
M and radius R about a tangent

in its own plane is SMR2 .

2) The moment of inertia of a
uniform circular disc of mass
M and radius R about a tangent

in its own plane is %MR2 .

3) The moment of inertia of a
solid sphere of mass M and
radius R about a tangential
axis is EMRZ.

4) The moment of inertia of a
spherical shell of mass M and
radius R about a tangential

axis is gMR2 .

P.T.O.
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103

104.

105.

. g @ BRI AU 300 Hz WA &

T 30 m/s H A A TH MEH B

Wh §¢ W 2 ol @ H <Fa
TH W [ W@ 5 I BR
aE B MW F qEfdg @ B
AGRT &l GG Al B 7

(B & @ & = =340 m/s )

1) 276 Hz 2) 303 Hz
3) 329 Hz 4) 358 Hz
FfaRaa FFl ) R fife

() T T TH TH-IHT TS o

(i) I G T dqH Bl AU
g IX JuRed B B

gel faeey & 999 F ¢
1) 2 B (1) o (i) T T

2) A FE (@) oY (i) TE T
2

3) @ad HIT (i) Tl &l

4) Fad HIT (i) T Bl

T ST s e i ea-JR
B AT BY H Th FHAW O |
R 81 AR &N JEE W A W
quoT &9 &l e B

1) SW P AN
2) = @ AR

3) AR 9§ X
4) AR B TN
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The police car with its 300 Hz siren
is moving towards a warehouse at
a speed of 30 m/s, intending to
crash the door. What frequency of
sound reflected from the
warehouse does the driver of
police car hear ? (Take speed of
sound in air = 340 m/s)

1) 276 Hz 2) 303 Hz

3) 329 Hz 4) 358 Hz

Consider the following statements :

(i) The conductor surface is an
equipotential surface.

(ii) Surface charge density is

present on the outer surface of
the conductor.

Choose the correct option :

1) Both the statements (i) and (ii)
are correct.

2) Both the statements (i) and (ii)
are incorrect.

3) Only statement (i) is correct.

4) Only statement (ii) is correct.

Radha
textbook against a vertical wall

presses her physics
with her hand. The direction of
friction force exerted on the book
by the wall is :

1) upward

2) downward

3) outfrom the wall

4) into the wall
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106

1017.

108.

. T gt ¥ ag] o) oitg & 99 W

q P9 a9 dF (u = 1.50) THIGE F
9 d9 % dae oRy ®9 9 9%
g, A TES B FAdH e
g (Sfer ®) T ©

1) 78.2%
2) 21.8%
3) 11.6%

4) 1.9%

OO giad RIS H Th R
3x107* m® I HIC AW gah |
e St BI 81 STt feRReT
F T T 10°W B gas 31.4
rad/sa%q%vﬂqa@i%r%mguﬁ
FA 31 U TR gah § oA Al
TR B Helt & (I H) ¢

1073
107}

1) 107 2)
3) 1072 4)

fpdl @ o P (Shape) &
Hd § A YHT B qEH
TATHT Bl ©

1) M

2) Haq

3) BN

4) drdgE
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A telescope includes at least three

lenses (U = 1.50) between the
object and the eye. When the lens
surfaces are ideally clean, the
minimum reflection loss of light (in

percentage) is approximately :
1) 78.2%
2) 21.8%
3) 11.6%

4) 1.9%

A beam of plane polarized light is
incident normally on a polarizer of
cross section 3x107*m?. The
energy flux of the incident beam is
103w . The polarizer rotates with
an angular frequency of 31.4
rad/s. The energy of light passing
through  the
revolution will be (in Joule) :
1) 107t 2) 1078

3) 1072 4) 107!

polarizer  per

The wavefront of a light coming
from a distant source of unknown
shape are nearly :

1) Spherical

2) Plane

3) Cylindrical

4) Elliptical

P.T.O.
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109.

110.

TFT HIT B T DI

1) @ FEE e, STy
A @ qCN ® AE G,
FA TEE TEE § HH BN
ey

2) N Fal T qOl & ABET Bl

gRRomet atferepeH < fpel ot
T qET B A B NI
Bl

3) UH FAEF Taal (t << A) e,
WAk YR H g9 _Es
& B

4) g9 G, HfTHT B T
H B

R & e IX [JaR $ice ¢

() "hed (e ) U S
I CUNCIS I CE G ECC -
Bl 2

(i) NN Wa W AR @
v fafeter # uRakid &l
2|

7e o 1 qge HIE ¢

1) a9F ¥ () o) i) T2

2) A HF (@) oMY (i) T& T
g

3) @ad HIT (i) TEI Bl

4) Fad I (i) T DI
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109. Choose the incorrect statement :

1) For sustainded
the optical path defference
between the superposing

wave is less

coherence length.

2) The resultant

intensity due to interference of

N coherent waves will be N°
times of intensity of any one
wave.

3) In
excessively thin (t << 1) film

reflected light an

appears bright.

4) The state of polarization affect
the interference.

110. Consider the
statements :

following two

(1) Microwaves are produced by

an electric circuit with an

oscillating current.

(ii) The ozone layer converts the

ultraviolet radiation into the

infrared radiation.
Choose the correct option :

1) Both the statements (i) and (ii)
are correct.

2) Both the statements (i) and (ii)
are incorrect.

3) Only statement (i) is correct.

4) Only statement (ii) is correct.

interference

than the

maximum
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gfcis & ardiias 81 & o, sfaa
MNATBR TAE (Pra-arg AT H ST
0t A 0 R A ar @ g
e T aehal Bodl & 'K Al
§ ot B =Rl | K & AN ©

1) 1 2) 1.5
3) 2 4) 3

oeel giEH & wey J e
¥ 70 w99 g

1) % TR g fadee aEEd
iRy STfs 3= & gl

2) W€ (Core) &l HeH@Ar =<
Bt Bl

3) KIEX| (Leakage) UECTCH N
2|

4) WE (Core) H wad & fud
A & [ TG R aed
S BT TG Bl

W P AW X AUl HET A gHd

99 et STHH=IT @30T Bl ©
(3=t @t e @ B =
1.496x10" m)
anr 2n®r
Sy 2
4nr 4n®r
3) 77 4) 77
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For the image to be real, from the
reflection at a concave spherical
surface

(separating  glass-air

medium), the distance of the
object should be more than 'K
times the radius of curvature of the
reflecting surface. The value of 'K'
is:

) 1

3) 2

2) 1.5
4) 3

Choose incorrect statement from
the following regarding the Ideal
Transformer :

1) Its primary and secondary
winding resistances are very
high.

2) The
permeability.

core has infinite

3) The leakage inductance are
Zero.

4) Negligible magneto motive
force is required to establish
flux in the core.

Centripetal acceleration of the
earth as it moves in its orbit
around the Sun is:
(Radius of earth's orbit =
1.496x10'' m)

2
1) Zﬂ 2) 2n°r
T2 T2
2
3) 4_7t2r 4) 4n2r
T T
P.T.O.
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114.

115.

116.

el a9 & orfdRe SfeRig 7 &
o | fagd aed S bl gEH ReR
g FeTed T a X W 90 cm
% TR A A e S g1 S
5 Q & U a9 | JeT 8 & a9
A & S Wi’ 319 45 cm H
G R I G G TR S O
& (ofw #) :

1) 2.5
3) 10.0

2) 5.0
4) 20.0

0.001001 # @refer 3iehi & de&AT &

1) 3
3) 5

2) 4
4) 6

9 ® Py, P, AR Py, 9T t=0 W

ol L ax §Heg B PiPPy &
it w® Red 81 @% F91 FEw i

V & @Y I9dl 81 Py ® A BHSM
PP, % TR P, & PPy % AR
AR Py @ PP, & TR AT &1 T8
Y S FHO1 TH-gE q e, B

3V
A4
5 2
4

L

4) —
)3V
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In measuring the internal
resistance T’ of a cell, the EMF is
first balanced by a length 90 cm
on the wire carrying a constant
current. When a resistance of 5 Q
the cell, the

terminal potential difference of the

is connected to

cell is now balanced by a length
45 cm. The value of r'is (in ohms) :

1) 2.5 2) 5.0
3) 10.0 4) 20.0

The number of significant digits in
0.001001 are:

1) 3
3) 5

2) 4
4) 6

Three particles P,, P, and P; are
situated at the vertices of an
equilateral triangle P,P,P; of side L
at time t = 0. Each of the particles
moves with constant speed V. P,
always has its velocity along PPy,
P, along P,P; and P; along P3P;.
The time at which the particles
meet each other is:

1) 2L

3V

3L

v

2L

v

g L
3V

2)

3)
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117. SoIRedl Redisl & e § fr=foied 117. Choose the incorrect relation
4 9 TorT G ?ﬁ : among the following in reference
to elastic constants :
1) G=3K+Zn 1) G=3K+2n
2n-6K 2n-6K
Y Y
2) n= 2) m=
2(1+0) 2(1+o0)
3) y=_nK 3) y=_nk
3K +n 3K +n
4) K= _Y 4) K= _r
3(1-20) 3(1-20)
118. TF Ja T § o ¢ 118. In a projectile motion the velocity :
1) Ted RO B TEd el gl 1) 1is always perpendicular to the
acceleration.
2) FH A TR & TEad el Bl 2) 1is never perpendicular to the
2| acceleration.
3) Fad TP HT P [ T D 3) is perpendicular to acceleration
Tegd &l 2l for one instant only.
4) A &l B D &R B dEad 2 4) isperpendicular for two instants.
119. Aifed WA & Ffated gt & @ 119. Which of the following pairs of
febeent T SERSEIE] 7 g physical quantities does not have
the same dimensional formula ?
1) s HE& AR g o0 1) Raynolds number and
coefficient of friction
2) A FH AR [owE fava 2) Latent heat and gravitational
potential
3) oG Ug S 3) Tension and force
4) W% MIdis @ EIFHT'SI 4) Planck's constant and torque

[ Level-3/1315] P.T.O.
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120.

121.

7el BT B G

1) e guand ufkar & fRer omest
I B FHT YSE B A B, o
I FOMHS HE BN

2) HMEI 59 Th AEHAT S92

3) & JEN Yoli% a 3 & o
CP:CVa&ﬁgTaqm%|

4) I fpdl e @ TS & S
g, A IGH A9 STaF T

dieer-I iR difeer-I & deal &
e #Y
qTiel-T GIINCAg i
(21w) (fFrame=)

(A) Mepcsfie AW (i) fawiea od
(B) TG &N (ii) STFERR G

(C) S-gyghe QY (iii) el o
(D) &fte Ju=y (iv) 3T I
7el fabed B TIT B -

1) A(iv) B@) C(i) Diii)
2) A(ii) B(@v) C@) D(ii)

3) A(iv) B(i) C@) Dfiii)
4) A(ii) B(@) C(i) D(iv)
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120. Choose the correct statement :

1) If heat is supplied to an ideal
gas in an isothermal process,

gas will do negative work.

2) Carnot engine is a irreversible

engine.

3) For a solid with a small
expansion coefficient Cp is

slightly greater than Cj,.

4) Ifheatis added to a system, its

temperature must increase.

121. Match the elements of Table-I and

Table-II :
Table-I Table-II
(Defect) (Correction)
(A) Myopia (1) Bi-focallens

(B) Hypermetropia (ii) Cylindrical
lens

(C) Presbyopia  (iii) Concave lens

(D) Astigmatism (iv) Convex lens

Choose the correct option :

1) A(iv) B(@) C(i) Diii)

2) A(ii) B@v) C(@) D(i)

3) A(iv) B(@i) C(@) D(ii)

4) A(iii) B@) C(i) D(iv)
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Frefofed & & dF-a1 g faea

?%W%%ﬁﬁﬁ@ﬂ@?
?

1) O "

2) N UHIA SNl bl TG QiR bl
qaT BT

3) T WEC & WAld qara

4) TR § R H GeAR

46.6 g/m WgFH @ I TH Y
Bfoer 99 & aX ¥ 28 A o yaied
alﬁglﬁﬂzﬁ@ﬂﬁaﬁ(ﬂom)

%%ﬁw&wwaﬂww

1) 12mT 2) 16 mT
3) 24 mT 4) 28 mT

A IR FEE Bl gD TS @

¥ @1 ST B, @ By @ WM, &

() @R IUU g I & AN IR
F & AR

(i) 36 E@El ga I H AR
SR FC 8, FA: &

(By = gt & TG & & AR

qe)

1) Hom Ho m

47'Cr 4Tl:r
2) uoz_m “_Oz_m
47Cr 4TE r
3) uoz_m Ho m
4T _r 47Cr
gy Hom ”_Oz_m
47tr 4713 r
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[37/A]

Which of the following is not one
of the fields of application of
photoelectric cells ?

1) Counting machine

2) Compare the illuminating
power of two light sources

3) Automatic operation of street
light

4) Reproduction of light in motion
picture

A straight horizontal copper wire
with a linear density of 46.6 g/m
has a current 28 A flowing through
it. The minimum magnitude of the
magnetic field required to float the
wire in the air is approximately :

1) 12mT 2) 16 mT

3) 24 mT 4) 28 mT

If the Bar magnet is placed in the
magnetic meridian, then the value
of By, when :

(i) Its north pole points towards
north and
(i) Its south pole points towards
north, are respectively :
(By = Horizontal component of
earth's magnetic field)
1) Hom Ho m
47 _r3 ’ 4T _r3
Ho 2m Ug 2m

) Hoz2m Fo M
) 4T r3 47 rs

3) Ho 2m W m

4T r3 ’ 47tr3

4y Mo m Ho2m
) T3 - 3
4T r 4T r

P.T.O.
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125

126.

1217.

. Frefafed & 4 @@ Qs

T orfufhr d Wxferd 78F &l
g7

1) e (STEHCI®) TheT

2) RISt He

3) @HIfg HaT

4) gy faga gy

g fadias SkEs @ dadr =
TS W@ X% & AR g fadiew
S #l qaar s Seas B Y%
T XA Y 3 AW FAM B

1) 0.08,0.016
2) 0.08,0.045
3) 0.045,0.025
4) 0.045,0.016

TH 120 V, 40 W o9 & 220 V,
50 Hz J& MYfd W Hemied far
ST 21 & SR F 98 WM S oY
B W dedl W oW & A
HEGH BT

1) 0.59H
2) 1.76H
3) 3.34H
4) 5.28H
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Which of the following physical
quantity is not conserved in a

nuclear reaction ?

1) Isotopic spin

2) Nucleons number
3) Angular momentum

4) Magnetic dipole moment

The intensity of the first secondary
X% of the central

maxima and the intensity of the

maxima is

second secondary maxima is Y%
of the central maxima. The values

of X and Y are respectively :
1) 0.08,0.016

2) 0.08,0.045

3) 0.045, 0.025

4) 0.045,0.016

A 120 V, 40 W lamp is to be
operated on 220 V, 50 Hz supply
The

inductance,

value of
that

mains. pure

would be
required in order for that lamp to

run on the correct voltage will be :
1) 0.59H
2) 116 H
3) 3.34H
4) 5.28H
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128. T YEEh VY 3 [ QREX

129.

T (T $F) A9, &9 6 (B
$eX) AM, ofEd AM Ud gE AW
A & (Lmax = ST &)

1) 1.414,1.11, 0.707 Loy, 0.637 I o
2) 1.414,1.11,0.637 I 5, 0.707 I,
3) 1.11, 1.414, 0.707 I, ax, 0.637 I ax

4) 1.11, 1.414, 0.637 I;ax, 0.707 Iax

FrfeRaT & HEMl O e S -

() & R omad Yo aumd &
R T A F9 9 IR = W
W 9 ST el |

(i) OS] qU qIA T YOG Al
b1 TGl &l

Gel faeey & 999 F ¢
1) 2 B (1) o (i) T &

2) A HE (@) oMY (i) TE T
g

3) @ad HIT (i) TEI Bl
4) Fad HIT (i) T B
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[39/A]

128. For a sinusoidal waveform peak

129.

factor wvalue, form factor wvalue,
average value and effective value
are respectively (I, = Maximum

Current) :

1) 1.414,1.11,0.707 I,;,oy, 0.637 I, o4
2) 1.414,1.11,0.637 I,;,oy, 0.707 I, 54
3) 1.11,1.414,0.707 L0y, 0.637 I o5

4) 1.11,1.414, 0.637 I 5y, 0.707 Iy

Consider the following two

statements :

(i) For a constant volume gas
thermometer, the gas should
be filled at low temperature

and high pressure.

(i) As the temperature is

increased the time period of a

pendulum increases.
Choose the correct option :

1) Both the statements (i) and (ii)

are correct.

2) Both the statements (i) and (ii)

are incorrect.
3) Only statement (i) is correct.

4) Only statement (ii) is correct.

P.T.O.
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130. TF SOEEhE qT & gHg-3Nad Qe

131.

132.

133.

T F AW P mdl g A a0

H BN H nff Td B
AR B 81 m R o & AW
AT E

) 1,2 2) 2,2

3) 2,1 4) 1,3

e A+B=C, |A|=|B|=|C|, 7@ A
A B B " T B

1) 45° 2) 90°

3) 120° 4) 180°

frefofag & § “OF9 gaE” fhed
gefag & ?

1) TESlNE aFe

2) gl g8 e Bl dad 4

3) &Y UMl & 4 A | Fa

4) TR <& H TN H dd8 W
GEGl]

FrfeRaT & HEFl 9X 9 S -

() I =y # fEw URG gwr oA
fE[ aresh o @ o STERT o
S M 2 | e B S D
Tk IX 9 Pl Had BT gl

(i) AT H 9 o G & e
W 3Eia

FeT [aheq &1 I FHIH

1) %ad T (1) T B

2) dad HUF (i) Tl B

3) FHIE (i) AR (i) I T &

4) %EEFT @) oX (i) a= @& =l
|

[ Level-3/1315 ]

130.

131.

132.

133.

GET IT ON
Google Play

The time-averaged power of a
sinusoidal wave is proportional to
m'™ power of the amplitude of the
wave and n™ power of the angular
frequency of the wave. The values
of m and n are respectively :
) 1,2 2) 2,2
3) 2,1 4 1,3

- 5 5 o — -
If A+ B=C, |A|=|B|=|C]|, then the
angle between Aand B is:
1) 45° 2) 90°
3) 120° 4) 180°

'Magnus Effect' is related to which
of the following ?

1) Hydraulic lifts

2) Playing with a spinning ball

3) Deep water moves slow

4) Razor blades float on the
surface of water

Consider the two

statements :

(i) The right hand rule is used for
induced current or EMF
whereas the left hand rule refers

to the force on a conductor.

following

(ii) Lenz's law is based upon the
law of conservation of energy.

Choose the correct option :

1) Only statement (i) is correct.

2) Only statement (ii) is correct.

3) Statements (i) and (ii) both are
correct.

4) Statements (i) and (ii) both are
incorrect.
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134.

135.

136.

e (A1) F ST B
R sraaromelt (qifem-1) & awe
F ST Tl & ¢ GHIA HX 8T R
EXRE

SIREA

(&) T B FHE I
(B) TI9HM II.

aforent-11
R R @
oy

(C) T & O THhIgRA 1L ST
(D) ST =h V. G4 & 5

%< -

1) A(Q) B(QV)
2) A(I) B@V)
3) A(IV) B(Il)
4) A() B(I)

C@ DI
C(Il) D)
C@ D)
C(IV) D(I)

Q) UM G {875 o6 g = g =
2.0 uC FHAM: x =0, y=0.30 m 3R
x=0,y=-030 m W Rq &
foga s @ 9T T R S oq
AR g, TR MWT Q = 4.0 uC A
%: =040 m X y = 0 W ¥, T

1) 0.46N, +x fasm
2) 0.23N, -—x f&sm
3) 0.23N, +x fesm
4) 0.17N, -x f&sm

T T (b) TG THIOH BT (0) B
g e T § ¢

1) cos o 2) cot9
2 2

)

3) cosec 2 4) sin® —

[ Level-3/1315]
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[41/A]

Choose the correct code by
matching the concept (Table-I)
that can be explained using the
example (Table-II) :

Table-I Table-II

(A) Earth's Tilt I. Day and Night
(B) Temperature II. Weather
(C) Earth's complete III. Cloud

cycle
(D) Water Cycle IV. Sunlight
Codes :
1) A(dl) B(IV) C() DI
2) A() B(@V) C(I) DD
3) A(IV)B(I) C() D(I)

4) A{d) B(I) CdV) D)

Two equal positive point charges
q1=q2=2.0uC are located at x = 0,
y=030mandx=0,y=-0.30m
respectively. The magnitude and
the direction of the net electric
force that g; and q; exert on a third
charge Q = 4.0 upC atx = 0.40 m
andy =0 are:

1) 0.46 N, +x direction
2) 0.23N, -x direction
3) 0.23N, +x direction
4) 0.17N, -x direction

The correct relation between the

impact parameter (b) and
scattering angle (0) is :
1) cos9 2) cotg
2 2
3) cosec? 9 4) sin* 9
2 2
P.T.O.
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137. TORHE "\ & UHaUig YHer Bedr R
® UH foald e Mo 9¥ Sfafad
BT 2 TERH A, & S A

138.

139.

2) 0
4) 2

frfofag & @ S9-A1 Fe DA

Il & T 78 8 7

1) gﬁaﬁawﬁﬁqﬂmwwsﬁm
|

2) ARG 9 ®aq gl 98l
k1 S i

3) gﬁﬁaﬁaaﬁraﬁwwﬁrﬁtaﬂ?f
|

4) BT I THd H A GEE
fFISR ST 2

frfeied ®eMi X fger i :

() SAFEE-I9EI ZFAM STEATE D
o W MR T 2

(i) T P-UBR H ASAWH [Ogd
SEEN & B

7e fasbed 1 TI HIE ¢

1) T I Q) TG (i) T

2) g:ﬁ HE () T () & T
|

3) @ad HIT (i) TEl Bl
4) Fad HIT (i) T B
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A  monochromatic light of
wavelength "\' is incident on an
isolated metallic sphere of radius
'R'. The threshold wavelength is A,
which is larger than A. The number
of photoelectrons emitted before
the emission of photoelectrons
stops in proportional to m™ power
of radius 'R'. The value of mis:

1) -1 2) 0
3) 1 4 2

Which of the following statements

is not a property of nuclear forces ?

1) Nuclear force has saturation
property.

2) Nuclear forces are effective
only at short ranges.

3) Nuclear
charge.

force depends on

4) Nuclear forces are the most
powerful forces Lknown in
nature.

Consider the following statements :

(i) The electron effective mass
depends on the properties of
the semiconductor.

(i) A P-type semiconductor is
electrically neutral.

Choose the correct option :

1) Both the statements (i) and (ii)
are correct.

2) Both the statements (i) and (ii)
are incorrect.

3) Only statement (i) is correct.

4) Only statement (ii) is correct.
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140. &9 U GHAW [Ogd ey a6
Afcrd e (Material Surface) W
AR Bkl &, df AT qAE W HB
AT p O ol E WM &l B
e :

1) p=0,E=0

2) p#0,E=0

3) p=0,E#0

4) p#0,E+0

141. fpe Refq § gfig R & aR & 9
H AF n' THEAH QA (0% &
iaRe aig 7) & IofeeH § SR
TAFIR %9 § oM & ol a9
B ?

1) R>o,r—0
2) R=<
n
3) R=r
49 r=%
2

142, =1 =gl W fa=m ik -
() e e % Y v, > v,
(if) AGEHIT I & [/ v, > v,

el faehed 1 T B

) IE T T B

2) I T TA T &

3) A T (i) 9 B

4) FIA T (i) TA B
[ Level-3/1315]
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When a plane electromagnetic
wave is incident on a material
surface. The wave delivers some
momentum p and energy E, if :

1) p=0,E=0
2) p#0,E=0
3) p=0,E#0
4) p#0,E+#0

Under what condition will the
value of current in a wire of
resistance 'R’ be the same for a
combination of 'n’ identical cells
(each having internal resistance

") in series and in parallel ?
1) R>o,r—0

2) R=

5N

3) R=r
4 R=2Z
2

Consider the following relations :

(1) For dispersive medium v, > v,

(ii) For non-dispersive medium
Vp > Vg

Choose the correct option :

1) Both the relations are true.

2) Both the relations are false.

3) Only relation (i) is true.

4) Only relation (ii) is true.

P.T.O.
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143. 9 % H-[AY] Yoy ¥, Fodg
TR B IRl SR 5.29 x 10 m
BT & T W 6.60 x 10'° Hz AN
q g 81 FT B R W M B
P AN B

1) 25.2T
2) 164T
3) 12.6T
4) 10.8T

144. 8 Q TUY & G IvEH H TH
iR R, 100 W & STasiiyd e 8
ST AN 60 V @A § I B &l
3T T R & 99 & 9l © ¢

1) 16Q AR 8Q
2) 160 AR 40
3) 8Q X 40
4) 120 AR 8Q

145. ‘gHd B SF TH Hiew © foed
frerr ot feomed @ uickwm 9@
dafed o e i 6 ™
¥, =0 gfowfed fear :

1) TSR 3d (1960)
2) e &% (1962)
3) HIRAT 8% (1960)
4) @1 <X (1961)

[ Level-3/1315 ]
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In the Bohr model of H-atom, the
electron circulates around the
nucleus in a path of radius
529 x 10" m at a frequency of
6.60 x 10'° Hz. The value of the 'B'
setup at the center of the orbitis:
1) 25.2T

2) 164T

3) 126T

4) 10.8T

A resistor R in series with an 8 Q
resistor absorbs 100 W, where two
are connected across a 60 V line.
The value of unknown resistance R
may be :

1) 16Qand8Q

2) 16 Qand4Q

3) 8Qand4Q

4) 12Qand 8 Q

'Cone of Experience' is a model in
which many principle related to
teaching-learning design and
process have been included, it
was propounded by :

1) Edgar Dale (1960)

2) Robert Hook (1962)

3) Maria Nike (1960)

4) Dala Taylor (1961)
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[45/A]
146. I ¥9F &R A, BARC I gl W 146. Three indentical cars A, B and C
T T & I W@ 2 PR A GHAA are moving at the same speed on
gl U, B W AR a9 ol WX three bridges. The car A goes on a
AR C FW & I SmEad gl W plane bridge, B on a bridge
Tl 31 AT Fx, Fg AR Fc gFﬁ T convex upward and C goes on a
FR N A ™ AEE T %, SEI bridge concave upward. Let Fz, Fp
R g?*ﬁ ® 7 H Eal %, daq : and F¢ be the normal force exerted
by the cars on the bridges, when
they are in the middle of the
bridges, then :
1) Fx Wi o« & stfeepad & 1) Fjgis maximum of three forces
2) Fg GIEIICKIRC R Bea i 2) Fpis maximum of three forces
3) Fc aml Tt § orftepaw B 3) Fcis maximum of three forces
4) Fy=Fp=Fc 4) Fr=Fp=Fc¢
141. 777 HIT B T P 147. Choose incorrect statement :

1) EH g & § w6 fEm
faga fHl S & TE AT T
AL TG F AT FIA ol

2) % O [9gd & 4 0% fayd
T AF g9 AR T g
YT B SFIHE BT Bl

3) o« faga omgel & & wHiAL
gfq @®iR B 5, O fEgE @
AT T AR LI T W
YT B ol

4) ¥YH g0 W faga &=, ol fig
A & fIET Smasr & e |
A STt & g B

[ Level-3/1315]

1) In a uniform electric field, an
electric dipole experiences no

net force, but a non-zero torque.

2) In a non-uniform electric field, a
dipole experiences a non zero

force and non-zero torque.

3) When moment is

parallel or anti-parallel to field,

dipole

the dipole experiences a non

zero torque and zero for force.

4) At larger distance, the dipole
field decrease more rapidly
than the electric field of a point
charge.

P.T.O.
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148. TF FHT GHH r=(i+2])Acosot
% AR X — Y d@ § T B B
O B TS TE D

1) T e W W
2) T §Hgd W
3) IEie®

4) S A

149. AT & HI9 X & &Y -

() T FTH It =0 W A &l
t=0 I T LI B e

(i) T F°T & I t = 0 W LA ol
t=0 T @1 A & A ol

7al faeed & T e
1) %99 (i) Ud (i) a1 T8 B

2) HIF (i) T (ii) 2l Td 2

3) @ad HIT (i) Tl &l
4) Fad HIT (i) T Bl

150. U% [q@Rq =ce Mar el Bee
R =6.85cm & W q = 1.25 nC &
MY B Th FHUMH NN T8 Bl
BT 'Ry @ WM FM BN ST
gufeq Rufost oot @1 omen e
T WX § 7

1) 3.425cm  2) 6.85cm
3) 10.278cm 4) 13.70 cm
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149.

150.
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A particle moves in the X — Y plane
according to the equation :

r=(i+2])Acoswt
The motion of the particle is not :
1) on astraight line
2) on an ellipse
3) periodic

4) simple harmonic

Consider the ifollowing two

statements :

(i) The velocity of a particle is
zero at t = 0. The acceleration
at t = 0 must be zero.

(ii) The velocity of a particle is
zero at t = 0. The acceleration
at t = 0 may be zero.

Choose the correct option :

1) Statements (i) and (ii) both are
correct.

2) Statements (i) and (ii) both are
incorrect.

3) Only statement (i) is correct.

4) Only statement (ii) is correct.

An isolated conducting sphere of
radius R = 6.85 cm has a charge
q = 1.25 nC. What will be the value
of radius 'R, of an imaginary
spherical surface, when half of the
stored potential energy is within
it ?

1) 3.425cm 2) 6.85cm

3) 10.275cm 4) 13.70cm

[ Level-3/1315 ]
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6. U B JM, I G=h ¥ fraiRg &=t @ & 9| qrEe A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 5 < R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A S, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g ® & @™ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

1. 6 Hﬂq-gﬁﬂ?ﬂ ¥ 39 waee & fe & T@ Tt e W E B / Rough work should be done only in the space provided in the
Question Booklet for the same.

8. T IW 397 OMR IR T& T & A | T IR SAMYEH i X I Tae o @ o0 (FHe wgs) H TAT Mg &1/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

9. UF U & fow Ru U AR e § & ot faeey 3 T OMR ST W W F99 T g9 & & [0 T FM a6 @Re 1 W
Tp d I JifFT B B 9B IY To Tl o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

10. =t gifaa & % 50 oW % B Al T I Ud 39 W A I PN T am ot ot i St W § fEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

11. J-JKH T S T B ANEE T H, F@ie b 9 oRRefy § [peT-gRae S T & BHE 5 R @ R @
@3%_{] {ﬂ'& a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vn@fn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

12. QQ:T—W/BT‘R T 7 ﬁ"\’ T A B 1l e ql% | sEir =@ § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

13, ol B qlen St/ ¥ 9N w Ol UEEM U & SfaRed Rl SR @ ured-anen, a1 ST FIST 1 ufE, T, AeEEd
'#Ff, Wﬁ% JUHT AT FhE ST TR & G B S AT SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

14. WA gRT ‘1@ TN W TG A U AN HE I_'aﬂ o] 3R Te=™ U R@W| / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

15. &= ofed a1 qHaud @ 9w aqgwi%r % fomm ﬁ'% et ST WM T éﬁ%ﬁ / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

16. FHERG THAEh B AT I T [U B 06 BEER G W AR eRER U R ol olen e T eieh Ak el erwedt 1
A0 R WK A W EWRR Te Y qF a8 qA O % I IO T AE Adern & AR Fe Sfd | H A qE S
OMR T % 7 FHiRg @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey T & &6 919 &
& @l WY @ 9 A & & &g oy oniq @l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

11. s@a@*‘rﬁm/mﬁﬁ UReheih 1 SUANT AT 81 / Use of Electronic/Manual Calculator is prohibited.

18. YN & 7 RV & [, v Rerem # & ® ubk/Ren-Few @ 9% & @9 e @ R @ RS e @ ogRa aner &
ol AR # e 9% 3wt o e @ FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

19. el e & QQ:T—W AN TR TF H Eh:fg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

20. TOET @O BN W, ol e/ Bie § U4 IR TS Fe-Tdawd B ofaed A 31 ond oTR | 36 Ue-gRaE @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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